Adding and Subtracting Polynomials
E3> simplify each expression.
1) (=5 +4) + 3z — 2) =

2) (—6z% + 7z) — (72 + 5z) =
3) 9z + 6) — (4z + 4) =

4) (22 + Tz) — (22% + 32) =
5 (7z® + 6z) + (32% — 4z) =
6) (—8z + 6) + (4x — 4) =

7) (62 + 3z) + (42° — 2z) =
8) (9z2 + 6z) — (7z? + 4a) =
9) (5z* + 8z) + (3z? — 6x) =
10) (—22% + 7z) — (22 + 5z) =
11) (—4z + 6) + (2z — 4) =

12) (—3z + 5) + (2z — 3) =

13) (522 + 9z) — (32% + Tz) =



Answers of Adding and Subtracting Polynomials

@ Simplify each expression.

1) (-5z +4) + B3z — 2)= —2z + 2

2) (—6z% + Tx) — (72 + 5z) = — 13z + 2z
3) (9 + 6) — (4= + 4) =5z + 2

4) (22 + Tz) — (222 + 3z) =022 + 4z

5) (72?2 + 6z) + (322 — 4z) = 102® + 2=z

6) (—8z + 6) + (4 — 4) = — 4z + 2

7) (622 + 3z) + (42 — 2z) = 102% + 1=z

8) (9z% + 6z) — (72?2 + 4z) =22 + 2z

9) (5z* + 8z) + (32 — 6x) =8z% + 2z

10) (—2z2 + Tz) — (222 + bz) = —42? + 2z
11) (—4z + 6) + (2z — 4) = — 2z + 2

12) (—=3z + 5) + (2z — 3)= — 1z + 2

13) (522 + 9z) — (32?2 + Tz) =22% + 2z



